MODEL QUESTION 14

1. Fill'in the blanks with the words from the box. Make any change if necessary.

as who however neither that nor so

A mirror was found in a paddy field by a farmer. a)___ this farmer, b)__ anybody else in the area had ever
seen a mirror. c)___, when the farmer looked into the mirror, he was surprised to see a man looking straight
at him. Now this farmer very much resembled his father d)___ had died a few years ago. he thoughte)___
it was his father.

a d g i

b e h

c 1j i
2. Fill in the blanks with suitable words.
Punctuality is of great value (a) a student. An unpunctual boy (b) is late (c) class will miss
(d) part of his lesson and fall (e) other students. But a (f) student will learn his lesson in
(8) and do well in (h) examination. Punctuality is the (i) to success in life. We all should be
punctual (j) our activities.

a d g j

e h

c i} i
3. Make five sentences using parts of sentences from each column of the table below.

Addiction taking heroin, opium etc.

The drug addiction is a man to death.

The drugs leads strong attraction for any harmful thing.

The frequent taking of these things means for intoxication and stimulating effects.

are used not only a national but also a global problem.

4. Complete the following text with right form of the verbs given in the box.

stay | come | be conquer | chain | arrange | wait welcome | make | offer

Time is compared to a gipsy who a)____ anywhere for long. The poet b)__ time to be his guest for a day. He
c)__ time many valuable gifts and honour. He offers him bells d)___ of the best silver for his horse and a
golden ring for himself. He will e)__ a peacock dance in honour of time. But time is a thing that never stays.
The greatest tragedy is that it never f)___ back. It never g)__. Man has been able to h)___ the world but he
isi)___ by thetime. Hej)___ nothing but a puppet to the power of time.

a d g j
e h
(s f i
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5. Change the narrative style of the following text:

“You look a little bit like my mother,” he said, “especially in the dark by the fire.” “But you were only four,
Jerry, when you came here. You have remembered how she looked, all these years?” said the writer.”My
mother lives in Manville,” said he.

6. Change the sentences according to directions.

a. Traffic jam is a common affair in big cities and towns (Make complex sentence).
b. It is one of the biggest problems (Use positive sentence)

C The causes of traffic jam are many (Make negative sentence)

d. There are many vehicles running in the street (Make complex sentence)

e. The drivers want to drive as they please (Make simple sentence)

f. They ignore traffic rules (Make negative sentence)

g. They change lanes very frequently (Make exclamatory sentence)

h. When they change lanes, they do not follow signals (Make simple sentence)

i The carelessness of drivers causes traffic jam (Make complex sentence)

j. We should solve this problem (Imperative)
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7. Complete the following sentences.

(a) A student is he

(b) One who wants to make a good result

(c) A student should be sincere and hard working so that

(d) If he fails to make good use of time

(e) Education must bring a positive change in one, otherwise
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8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

Ours is not a developed country. We are (a)......... (gradual) ........... developing. We are considered to be an
(b)........ (developed)............. country because of many reasons. (c)........... (literacy).......... is one of them. The
govt. of the country is aware of these. So measures have been taken for the (d)............ (eradicate)......... of
illiteracy. Itis true that literacy rate is (e).......... (rapid)........... progressing. (f)......... (true) ............. , everybody
has a role to play to (g).......... (move)........... illiteracy. (h).......... (educate).......... should be (i)...........
(sure)....... for our woman folk. (j)........... (assist).......... form the government is also very important.

a d g j

b e h

c f i

9. Make tag questions of these statements.

a) The beast rose in him, ?

b) All of them were present in the meeting, __ ?

c) Shut up, ?

d) The educated should come forward to educating the uneducated, ?
e) That is a farmer, ?

10. Complete the passage with suitable connectors.

Television is a common source of entertainment. a)_____ it has occupied the place of radio b)___ was once
the most popular source of entertainment. c)___ cricket has become more popular than football, d)___
football gives us instant excitement at every moment. e)___ people have changed their taste with the
passage of time.

a c e
b d
11. Rewrite the following passage and punctuate where necessary.

good morning rifat said rani how much preparation have you taken for the test examination a great
preparation he replied i must get gpa-5 wow what a lucky boy said rani but my preparation is not so good
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